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Example

m For the folium of Descartes x° + y3' =62y,
Find y'
Find the tangent to the curve at the point (3, 3)

At what points on the curve is the tangent line
horizontal?
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Example: °
Given x° — 3x3y2 + y2 = 5XY3 -4

Find
dx
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Example:

. d :
Find ay . given the curve x*—3xy =(5x* -8 yT

O~ (‘Syf’}xé}b S(sx,g /ox..tadﬁg

AxX—3y- x ~ oV

E(D( Sx= Q vﬁ;: S:K(sks?f\ 7[5k B}S%
d X 75 —3%-37; = Gox (‘5}&-%;3"-&)(1-3%
ﬁ—z SOx(gy 8731 ADYE 3y

70( 5&’“—%)\' —3X




Vo g+ By= 73Ry

L) (a5
. ? G H:zae@mx PRy 0 d)
V Falys (wa FORy 80 dyeq
ﬁ )}7;/9‘}



Page 107
#1d,f, h
#2c,d
#3c,d
#5 a

#6a,b,c
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